
GRE VERBAL PRACTICE PAPER 

TEXT COMPLETION 

 

Q. 1A book is your golden ticket into the speaking business. If you had a book published by a "real" publisher 

within the last 12 months in your hands, you have the calling card you need to get those (1) __________ 

engagements now. Some authors-to-be and new authors have trouble figuring out precisely how to (2) 

___________ that book into speaking. First, when the book is printed, ask the publisher for a few hundred 

copies of the cover, as "overrun." Usually you can have them free or at cost. They make large-sized, (3) 

_________ postcards to send to meeting planners to attract their attention. 

Blank(i) 

  A. busines 

  B. speaking 

  C. public 

Blank(ii) 

  A. apply 

  B. leverage 

  C. utilize 

Blank(iii) 

  A. noticeable 

  B. printed 

  C. informative 
Q. 2 

When Americans imagine communities with (1) __________ homes, barefoot children and starving adults, 

they might picture Third World countries. But over 23 million U.S. residents live in (2) __________ rural 

poverty. In 1964, President Lyndon Johnson launched his War on Poverty from Appalachia, a 1,000-mile 

stretch that goes from southern New York to northeast Mississippi. Although some communities have seen 

improvement since the 1960s, the economic boom of the 1990s did little to improve (3) ___________ 

conditions. 

Blank(i) 

  A. dilapidated 

  B. dingy 

  C. overcrowded 

Blank(ii) 

  A. pitiable 

  B. utter 

  C. deep 

Blank(iii) 

  A. their 

  B. poverty 

  C. living 
Q. 3 

For example, the perspective of going on vacation while getting an office bonus would not only make us (1) 

_________, but also make us plan and imagine the holiday. In fact, we would feel the (2) _____________ 

without actually being on the vacation itself! However, when being on the actual vacation, the excitement 

tends to settle down as one begins to feel (3) ___. 

Blank(i) 

  A. exhilarated 

  B. excited 

  C. overjoyed 

Blank(ii) 

  A. bliss 

  B. relaxation 

  C. excitement 

Blank(iii) 

  A. contented 

  B. calm 

  C. normal 

 

 
Q. 4 



A lot of them get quite (1) ______________ due to their lacking this beauty and (2) ________ similar to others 

they have met. A better option will be to obtain the liking of others by being smart and good. Ugly people, in 

reality are those, who do not possess great ideas, or they cannot attract others by their thoughts and feelings. If 

we see history, we may find a lot of ugly people, but they had been famous and liked by all, since they have 

done (3) ____________ deeds. 

Blank(i) 

  A. disgruntle 

  B. depressed 

  C. envious 

Blank(ii) 

  A. allure 

  B. charm 

  C. thoughts 

Blank(iii) 

  A. beautiful 

  B. marvelous 

  C. thoughtful 
Q. 5 

One of the best things about being a leader is the privilege to share goals and dreams with members on your 

team. A leader inspires trust and (1) __________. You can lead others with your words and actions, and earn 

your members’ trust, and inspire them to build their business and develop their skills. Your own actions inspire 

your members to believe in themselves and (2) ____________. A leader is also out in the (3) ___________ 

doing it every day. 

Blank(i) 

  A. action 

  B. faith 

  C. dedication 

Blank(ii) 

  A. deliver 

  B. progress 

  C. accelerate 

Blank(iii) 

  A. heat 

  B. trenches 

  C. feild 
Q. 6 

New (1) ____________ innovations like fuel cells are still a long way off from truly becoming substitutes to 

the fossil fuel powered internal combustion engines that have driven us all this far down the road. (2) 

__________ looking at all the possible sources of alternate energy and especially renewable, wind and 

hydroelectric projects are the only two viable long-term sources. Solar power is a (3) _____________ huge 

alternative source of energy but it has a technological handicap-we do not possess the engineering expertise to 

make better solar cells. Solar cells are also very costly to produce and are not cost effective - even less so than 

wind. 

Blank(i) 

  A. technological 

  B. scientific 

  C. technical 

Blank(ii) 

  A. logically 

  B. perhaps 

  C. indeed 

Blank(iii) 

  A. relatively 

  B. potentially 

  C. substantially 

 

 
Q. 7 

A positive attitude not only makes us (1) _________, but it also makes us open to all the opportunities that 

come our way. Successful people have positivity radiating from them and they never let go of any opportunity. 

It is these minute opportunities that have made them climb their success ladders. Successful people also value 

their time. They are well (2) ___________ and planned for the day. Not only that, but they also value the time 

of others and fulfill their deadlines (3) ___________. When going for a meeting, they are always on time and 
well planned. 



Blank(i) 

  A. capable 

  B. enthusiastic 

  C. successful 

Blank(ii) 

  A. prioritized 

  B. punctual 

  C. focused 

Blank(iii) 

  A. efficiently 

  B. accordingly 

  C. timely 
Q. 8 

There are good reasons for (1) ___________. Afghanistan is the most ambitious project that the international 

community will have ever undertaken. And as a senior American official said, “The one thing that seems to (2) 

___________ Afghans over long period of time is they don’t much like foreigners.” But consider what the 

foreigners were up to in the past. The British and the Russians tried to colonize the place. The Arabs turned it 

into a base for international terrorism. Maybe now that the foreigners are coming for quite different reasons, 

the (3) ____________ will be more welcoming. 

Blank(i) 

  A. pessimi 

  B. reform 

  C. anxiety 

Blank(ii) 

  A. unite 

  B. disturb frustrate 

  C. frustrate 

Blank(iii) 

  A. Arabs 

  B. locals 

  C. citizens 
Q. 9 

When your people see you out (1) ____________ doing what you're advising them to do, they will then have 

more (2) __________ and trust in what you have to say. Lead by example, people believe what they see, not 

what they hear. A leader offers the team hope and inspiration. Decide today to be the leader that offers a 

positive (3) _________, and make a great difference in someone's life. 

Blank(i) 

  A. sincerel 

  B. diligently 

  C. actually 

Blank(ii) 

  A. conviction 

  B. respect 

  C. assurance 

Blank(iii) 

  A. experience 

  B. feedback 

  C. example 

 

 
Q. 10 

God Went Fishing is the story of Sigmund, an 18-year-old who travels the world in search of his identity. Not 

unlike Voltaire's Candide, during his journey, he feels as though the negative energy of the universe is 

deliberately conspiring against him. (1) __________, he follows his mentor Bernie's advice, and lives life 

thinking that we are all part of a "rational universe and that all was for the best in this best of all possible 

worlds." Clearly, this is not the case, as heinous acts of cosmic proportions are being committed daily in this 

(2) __________ world, without regard to any of us. What's worse is that the evildoers of the world are growing 

increasingly more creative and (3) ___________ in their endeavors. The examples that the author uses in his 

story will shock and astound readers. It seems that there are no depths to which some perpetrators will not 

descend to see their evil purposes brought forth. 

Blank(i) 

  A. regardless 

Blank(ii) 

  A. imperfect 

Blank(iii) 

  A. imaginative 



  B. nonetheless 

  C. however 

  B. regardless 

  C. evil 

  B. ruthless 

  C. brutal 
Q. 11 

A sound language skill is not enough to ensure success as a public speaker. Choose your words carefully and 

be sure to (1) _____________ them. Poor articulation and pronunciation weighs much in (2) __________ your 

presentation. Visual aids are helpful to get your message across. You may use handouts or technical 

presentations to support your points. But the best visual aids are your facial expressions, hand gestures and 

body language. When practicing your speech, try to do it in front of a mirror to see how you look. Make sure 

that you have a solid opening, a good transition and a (3) _________ conclusion. 

Blank(i) 

  A. rehearse 

  B. enunciate 

  C. verbalize 

Blank(ii) 

  A. damaging 

  B. deliverin 

  C. evaluating 

Blank(iii) 

  A. memorable 

  B. definite 

  C. valuable 
Q. 12 

Many biodegradable product distributors are strongly committed to environmental (1) _________. Their major 

focus is the slow decomposition of garbage in landfills and its (2) ___________ effects on the environment. 

That is why they sell 100% biodegradable, eco-friendly products to speed up the (3) __________ of trash and 

to reduce our negative effects on the earth. 

Blank(i) 

  A. causes 

  B. concerns 

  C. sustainability 

Blank(ii) 

  A. negative 

  B. devastating 

  C. gradual 

Blank(iii) 

  A. breakdown 

  B. decomposition 

  C. rotting 

 

 
Q. 13 

Guilt can be an effective tool when it comes to keeping us on track. However, guilt feelings when we have 

nothing to feel guilty about is another matter altogether. When guilt creeps into the time management process, 

it is usually an indicator that the individual has begun to believe on some level that unless they are not (1) 

__________ engaged in some task, they are not managing their time well. While it is important to take care of 

necessary tasks in a timely manner, we also need some time to simply relax and (2) ____________. From this 

perspective, failing to include time for rest and recreation is actually a breach of good time management 

policies. By denying your mind and your body of what it needs to be healthy, you are actually defeating the (3) 

________ of time management, and setting yourself up to fail at some future point. 

Blank(i) 

  A. currently 

  B. entirely 

  C. actively 

Blank(ii) 

  A. recharge 

  B. unwind 

  C. recreate 

Blank(iii) 

  A. meaning 

  B. objective 

  C. purpose 
Q. 14 

On the other hand some are very serious about their relationship and cannot handle the parting as the breakups 
are different as per the different (1) ___________ and very much depend as to how (2) _________ a person is. 

Some may take it very easily as a simple life phase. Teens cannot find it easy to part with somebody they love 



whereas adults may have experienced the same before and learnt how to carry on if such (3) _______ come in 

life. 

Blank(i) 

  A. circumstances 

  B. ages 

  C. exposure 

Blank(ii) 

  A. mature 

  B. experienced 

  C. intelligent 

Blank(iii) 

  A. situations 

  B. tragedies 

  C. instances 
Q. 15 

A perfect balance between exercise, diet, sleep and vacationing should be maintained. This translates into a 

mental (1) ________ that conceives and organizes subjects well and presents powerfully. This is especially 

essential from the pulpit so that every sermon goes forth full of energy to revitalize and refresh the souls of the 

listeners. Last but not least is the power of (2) ___________. Speakers must be trained in the art of voice 

modulation and pitch. They must practice, practice, practice till their voice comes out clear and strong. The 

world's greatest orators from time immemorial have all used the power of their voice as a well-honed, (3) 

____________ tool to awaken emotions, to change perceptions, to incite, to calm, to feel, to think. 

Blank(i) 

  A. balance 

  B. strength 

  C. vigor 

Blank(ii) 

  A. variation 

  B. diction 

  C. elocution 

Blank(iii) 

  A. persuasive 

  B. emotional 

  C. versatile 

 

GRE READING COMPRENSION 

QUESTION: 16 

PASSAGE:Most economists in the United states seem captivated by spell of the free market.  

Consequently, nothing seems good ornormal that does not accord with the requirements of the free 

market. 

 

 A price that is determined by the seller or for that matter, established by anyone other than the 

aggregate of consumers seems pernicious, Accordingly, it requires a major act of will to think of price – 

fixing (the determination of prices by the seller) as both “normal” and having a valuable economic 

function.  In fact, price-fixing is normal in all industrialized societies because the industrial system itself 

provides, as an effortless consequence of its own development, the price-fixing that requires, Modern 

industrial planning requires and rewards great size.  Hence a comparatively small number of large firms 

will be competing for the same group of consumers.  That each large firm will act with consideration of 

its own needs and thus avoid selling its products for more than its competitors charge is commonly 

recognized by advocates of free-markets economic theories.  But each large firms will also act with full 

consideration of the needs that it has in common with the other large firms competing for the same 



customers.  Each large firm will thus avoid significant price cutting, because price cutting would be 

prejudicial to the common interest in a stable demand for products. Most economists do not see price-

fixing when it occurs because they expect it to be brought about by a number of explicit agreements 

among large firms; it is not. 

 

 More over those economists who argue that allowing the free market to operate without interference 

is the most efficient method of establishing prices have not considered the economies of non socialist 

countries other than the United States.  These economies employ intentional price-fixing usually in an 

overt fashion.  Formal price fixing by cartel and informal price fixing by agreements covering the 

members of an industry are common place.  Were there something peculiarly efficient about the free 

market and inefficient about price fixing, the countries that have avoided the first and used the second 

would have suffered drastically in their economic development.  There is no indication that they have. 

 

 Socialist industry also works within a frame work of controlled prices.  In early 1970’s, the soviet union 

began to give firms and industries some of the flexibility in adjusting prices that a more informal 

evolution has accorded the capitalist system.  Economists in the United States have hailed the change as 

a return to the free market.But Soviet firms are no more subject to prices established by free market 

over which they exercise little influenced than are capitalist firms. 

The primary purpose of the passage is to 

 A.refute the theory that the free market plays a useful role in the development of industrialized 

societies. 

 B.suggest methods by which economist and members of the government of the United States can 

recognize and combat price-fixing by large firms. 

 C.explain the various ways in which industrialized societies can fix in order to stabilized the free 

market 

 D.argue that price-fixing, in one form or another, is an inevitable part of and benefit to the 

economy of any industrialized society. 

 E.Analysis of free markets in different economies 
 

QUESTION: 17 

PASSAGE:Most economists in the United states seem captivated by spell of the free market.  

Consequently, nothing seems good ornormal that does not accord with the requirements of the free 

market. 

 

 A price that is determined by the seller or for that matter, established by anyone other than the 

aggregate of consumers seems pernicious, Accordingly, it requires a major act of will to think of price – 

fixing (the determination of prices by the seller) as both “normal” and having a valuable economic 



function.  In fact, price-fixing is normal in all industrialized societies because the industrial system itself 

provides, as an effortless consequence of its own development, the price-fixing that requires, Modern 

industrial planning requires and rewards great size.  Hence a comparatively small number of large firms 

will be competing for the same group of consumers.  That each large firm will act with consideration of 

its own needs and thus avoid selling its products for more than its competitors charge is commonly 

recognized by advocates of free-markets economic theories.  But each large firms will also act with full 

consideration of the needs that it has in common with the other large firms competing for the same 

customers.  Each large firm will thus avoid significant price cutting, because price cutting would be 

prejudicial to the common interest in a stable demand for products. Most economists do not see price-

fixing when it occurs because they expect it to be brought about by a number of explicit agreements 

among large firms; it is not. 

 

 More over those economists who argue that allowing the free market to operate without interference 

is the most efficient method of establishing prices have not considered the economies of non socialist 

countries other than the United States.  These economies employ intentional price-fixing usually in an 

overt fashion.  Formal price fixing by cartel and informal price fixing by agreements covering the 

members of an industry are common place.  Were there something peculiarly efficient about the free 

market and inefficient about price fixing, the countries that have avoided the first and used the second 

would have suffered drastically in their economic development.  There is no indication that they have. 

 

 Socialist industry also works within a frame work of controlled prices.  In early 1970’s, the soviet union 

began to give firms and industries some of the flexibility in adjusting prices that a more informal 

evolution has accorded the capitalist system.  Economists in the United States have hailed the change as 

a return to the free market.But Soviet firms are no more subject to prices established by free market 

over which they exercise little influenced than are capitalist firms. 

The passage provides information that would answer which of the following questions about price-

fixing? I.What are some of the ways in which prices can be fixed? II.For what products is price-fixing 

likely to be more profitable than the operation of the free market? III.Is price-fixing more common in 

socialist industrialized societies or in nonsocialist industrialized societies? 

 A.I only 

 B.III only 

 C.I and II only 

 D.II and III only 

 E.I, II and III 
 

QUESTION: 18 



PASSAGE:Most economists in the United states seem captivated by spell of the free market.  

Consequently, nothing seems good ornormal that does not accord with the requirements of the free 

market. 

 

 A price that is determined by the seller or for that matter, established by anyone other than the 

aggregate of consumers seems pernicious, Accordingly, it requires a major act of will to think of price – 

fixing (the determination of prices by the seller) as both “normal” and having a valuable economic 

function.  In fact, price-fixing is normal in all industrialized societies because the industrial system itself 

provides, as an effortless consequence of its own development, the price-fixing that requires, Modern 

industrial planning requires and rewards great size.  Hence a comparatively small number of large firms 

will be competing for the same group of consumers.  That each large firm will act with consideration of 

its own needs and thus avoid selling its products for more than its competitors charge is commonly 

recognized by advocates of free-markets economic theories.  But each large firms will also act with full 

consideration of the needs that it has in common with the other large firms competing for the same 

customers.  Each large firm will thus avoid significant price cutting, because price cutting would be 

prejudicial to the common interest in a stable demand for products. Most economists do not see price-

fixing when it occurs because they expect it to be brought about by a number of explicit agreements 

among large firms; it is not. 

 

 More over those economists who argue that allowing the free market to operate without interference 

is the most efficient method of establishing prices have not considered the economies of non socialist 

countries other than the United States.  These economies employ intentional price-fixing usually in an 

overt fashion.  Formal price fixing by cartel and informal price fixing by agreements covering the 

members of an industry are common place.  Were there something peculiarly efficient about the free 

market and inefficient about price fixing, the countries that have avoided the first and used the second 

would have suffered drastically in their economic development.  There is no indication that they have. 

 

 Socialist industry also works within a frame work of controlled prices.  In early 1970’s, the soviet union 

began to give firms and industries some of the flexibility in adjusting prices that a more informal 

evolution has accorded the capitalist system.  Economists in the United States have hailed the change as 

a return to the free market.But Soviet firms are no more subject to prices established by free market 

over which they exercise little influenced than are capitalist firms 

The author’s attitude toward “Most economists in the United States” can best be described as 

 A.spiteful and envious 

 B.scornful and denunciatory 

 C.critical and condescending 

 D.ambivalent but deferential 

 E.uncertain but interested 



 

QUESTION: 19 

PASSAGE:Most economists in the United states seem captivated by spell of the free market.  

Consequently, nothing seems good ornormal that does not accord with the requirements of the free 

market. 

 

 A price that is determined by the seller or for that matter, established by anyone other than the 

aggregate of consumers seems pernicious, Accordingly, it requires a major act of will to think of price – 

fixing (the determination of prices by the seller) as both “normal” and having a valuable economic 

function.  In fact, price-fixing is normal in all industrialized societies because the industrial system itself 

provides, as an effortless consequence of its own development, the price-fixing that requires, Modern 

industrial planning requires and rewards great size.  Hence a comparatively small number of large firms 

will be competing for the same group of consumers.  That each large firm will act with consideration of 

its own needs and thus avoid selling its products for more than its competitors charge is commonly 

recognized by advocates of free-markets economic theories.  But each large firms will also act with full 

consideration of the needs that it has in common with the other large firms competing for the same 

customers.  Each large firm will thus avoid significant price cutting, because price cutting would be 

prejudicial to the common interest in a stable demand for products. Most economists do not see price-

fixing when it occurs because they expect it to be brought about by a number of explicit agreements 

among large firms; it is not. 

 

 More over those economists who argue that allowing the free market to operate without interference 

is the most efficient method of establishing prices have not considered the economies of non socialist 

countries other than the United States.  These economies employ intentional price-fixing usually in an 

overt fashion.  Formal price fixing by cartel and informal price fixing by agreements covering the 

members of an industry are common place.  Were there something peculiarly efficient about the free 

market and inefficient about price fixing, the countries that have avoided the first and used the second 

would have suffered drastically in their economic development.  There is no indication that they have. 

 

 Socialist industry also works within a frame work of controlled prices.  In early 1970’s, the soviet union 

began to give firms and industries some of the flexibility in adjusting prices that a more informal 

evolution has accorded the capitalist system.  Economists in the United States have hailed the change as 

a return to the free market.But Soviet firms are no more subject to prices established by free market 

over which they exercise little influenced than are capitalist firms. 

It can be inferred from the author’s argument that a price fixed by the seller “seems pernicious” 

because 



 A.people do not have confidence in large firms 

 B.people do not expect the government to regulate prices 

 C.most economists believe that consumers as a group should determine prices. 

 D.most economists associate fixed prices with communist and socialist economies. 

 E.Most economists believe that no one group should determine prices. 
 

QUESTION: 20 

PASSAGE:Most economists in the United states seem captivated by spell of the free market.  

Consequently, nothing seems good ornormal that does not accord with the requirements of the free 

market. 

 

 A price that is determined by the seller or for that matter, established by anyone other than the 

aggregate of consumers seems pernicious, Accordingly, it requires a major act of will to think of price 

– fixing (the determination of prices by the seller) as both “normal” and having a valuable economic 

function.  In fact, price-fixing is normal in all industrialized societies because the industrial system 

itself provides, as an effortless consequence of its own development, the price-fixing that requires, 

Modern industrial planning requires and rewards great size.  Hence a comparatively small number of 

large firms will be competing for the same group of consumers.  That each large firm will act with 

consideration of its own needs and thus avoid selling its products for more than its competitors 

charge is commonly recognized by advocates of free-markets economic theories.  But each large firms 

will also act with full consideration of the needs that it has in common with the other large firms 

competing for the same customers.  Each large firm will thus avoid significant price cutting, because 

price cutting would be prejudicial to the common interest in a stable demand for products. Most 

economists do not see price-fixing when it occurs because they expect it to be brought about by a 

number of explicit agreements among large firms; it is not. 

 

 More over those economists who argue that allowing the free market to operate without 

interference is the most efficient method of establishing prices have not considered the economies of 

non socialist countries other than the United States.  These economies employ intentional price-fixing 

usually in an overt fashion.  Formal price fixing by cartel and informal price fixing by agreements 

covering the members of an industry are common place.  Were there something peculiarly efficient 

about the free market and inefficient about price fixing, the countries that have avoided the first and 

used the second would have suffered drastically in their economic development.  There is no 

indication that they have. 

 

 Socialist industry also works within a frame work of controlled prices.  In early 1970’s, the soviet 

union began to give firms and industries some of the flexibility in adjusting prices that a more 



informal evolution has accorded the capitalist system.  Economists in the United States have hailed 

the change as a return to the free market.But Soviet firms are no more subject to prices established by 

free market over which they exercise little influenced than are capitalist firms. 

The suggestion in the passage that price-fixing in industrialized societies is normal arises from the 

author’s statement that price-fixing is 

 A.a profitable result of economic development 

 B.an inevitable result of the industrial system 

 C.the result of a number of carefully organized decisions. 

 D.a phenomenon common to industrialized and to industrialized societies. 

 E.a phenomenon best achieved cooperatively by government and industry. 
 

QUESTION:  21 

PASSAGE:Most economists in the United states seem captivated by spell of the free market.  

Consequently, nothing seems good ornormal that does not accord with the requirements of the free 

market. 

 

 A price that is determined by the seller or for that matter, established by anyone other than the 

aggregate of consumers seems pernicious, Accordingly, it requires a major act of will to think of price 

– fixing (the determination of prices by the seller) as both “normal” and having a valuable economic 

function.  In fact, price-fixing is normal in all industrialized societies because the industrial system 

itself provides, as an effortless consequence of its own development, the price-fixing that requires, 

Modern industrial planning requires and rewards great size.  Hence a comparatively small number of 

large firms will be competing for the same group of consumers.  That each large firm will act with 

consideration of its own needs and thus avoid selling its products for more than its competitors 

charge is commonly recognized by advocates of free-markets economic theories.  But each large firms 

will also act with full consideration of the needs that it has in common with the other large firms 

competing for the same customers.  Each large firm will thus avoid significant price cutting, because 

price cutting would be prejudicial to the common interest in a stable demand for products. Most 

economists do not see price-fixing when it occurs because they expect it to be brought about by a 

number of explicit agreements among large firms; it is not. 

 

 More over those economists who argue that allowing the free market to operate without 

interference is the most efficient method of establishing prices have not considered the economies of 

non socialist countries other than the United States.  These economies employ intentional price-fixing 

usually in an overt fashion.  Formal price fixing by cartel and informal price fixing by agreements 

covering the members of an industry are common place.  Were there something peculiarly efficient 

about the free market and inefficient about price fixing, the countries that have avoided the first and 



used the second would have suffered drastically in their economic development.  There is no 

indication that they have. 

 

 Socialist industry also works within a frame work of controlled prices.  In early 1970’s, the soviet 

union began to give firms and industries some of the flexibility in adjusting prices that a more 

informal evolution has accorded the capitalist system.  Economists in the United States have hailed 

the change as a return to the free market.But Soviet firms are no more subject to prices established by 

free market over which they exercise little influenced than are capitalist firms. 

 

QUESTION: 22 

According to the author, priced-fixing in nonsocialist countries is often. 

 A.accidental but productive 

 B.illegal but useful 

 C.legal and innovative 

 D.traditional and rigid 

 E.intentional and widespread. 
 

QUESTION: 23 

PASSAGE:Most economists in the United states seem captivated by spell of the free market.  

Consequently, nothing seems good ornormal that does not accord with the requirements of the free 

market. 

 

 A price that is determined by the seller or for that matter, established by anyone other than the 

aggregate of consumers seems pernicious, Accordingly, it requires a major act of will to think of price 

– fixing (the determination of prices by the seller) as both “normal” and having a valuable economic 

function.  In fact, price-fixing is normal in all industrialized societies because the industrial system 

itself provides, as an effortless consequence of its own development, the price-fixing that requires, 

Modern industrial planning requires and rewards great size.  Hence a comparatively small number of 

large firms will be competing for the same group of consumers.  That each large firm will act with 

consideration of its own needs and thus avoid selling its products for more than its competitors 

charge is commonly recognized by advocates of free-markets economic theories.  But each large firms 

will also act with full consideration of the needs that it has in common with the other large firms 

competing for the same customers.  Each large firm will thus avoid significant price cutting, because 

price cutting would be prejudicial to the common interest in a stable demand for products. Most 

economists do not see price-fixing when it occurs because they expect it to be brought about by a 

number of explicit agreements among large firms; it is not. 



 

 More over those economists who argue that allowing the free market to operate without 

interference is the most efficient method of establishing prices have not considered the economies of 

non socialist countries other than the United States.  These economies employ intentional price-fixing 

usually in an overt fashion.  Formal price fixing by cartel and informal price fixing by agreements 

covering the members of an industry are common place.  Were there something peculiarly efficient 

about the free market and inefficient about price fixing, the countries that have avoided the first and 

used the second would have suffered drastically in their economic development.  There is no 

indication that they have. 

 

 Socialist industry also works within a frame work of controlled prices.  In early 1970’s, the soviet 

union began to give firms and industries some of the flexibility in adjusting prices that a more 

informal evolution has accorded the capitalist system.  Economists in the United States have hailed 

the change as a return to the free market.But Soviet firms are no more subject to prices established by 

free market over which they exercise little influenced than are capitalist firms. 

According to the author, what is the result of the Soviet Union’s change in economic policy in the 

1970’s? 

 A.Soviet firms show greater profit 

 B.Soviet firms have less control over the free market 

 C.Soviet firms are able to abject to technological advances. 

 D.Soviet firms have some authority to fix prices. 

 E.Soviet firms are more responsive to the free market. 
 

QUESTION: 24 

PASSAGE:Most economists in the United states seem captivated by spell of the free market.  

Consequently, nothing seems good ornormal that does not accord with the requirements of the free 

market. 

 

 A price that is determined by the seller or for that matter, established by anyone other than the 

aggregate of consumers seems pernicious, Accordingly, it requires a major act of will to think of price 

– fixing (the determination of prices by the seller) as both “normal” and having a valuable economic 

function.  In fact, price-fixing is normal in all industrialized societies because the industrial system 

itself provides, as an effortless consequence of its own development, the price-fixing that requires, 

Modern industrial planning requires and rewards great size.  Hence a comparatively small number of 

large firms will be competing for the same group of consumers.  That each large firm will act with 

consideration of its own needs and thus avoid selling its products for more than its competitors 

charge is commonly recognized by advocates of free-markets economic theories.  But each large firms 



will also act with full consideration of the needs that it has in common with the other large firms 

competing for the same customers.  Each large firm will thus avoid significant price cutting, because 

price cutting would be prejudicial to the common interest in a stable demand for products. Most 

economists do not see price-fixing when it occurs because they expect it to be brought about by a 

number of explicit agreements among large firms; it is not. 

 

 More over those economists who argue that allowing the free market to operate without 

interference is the most efficient method of establishing prices have not considered the economies of 

non socialist countries other than the United States.  These economies employ intentional price-fixing 

usually in an overt fashion.  Formal price fixing by cartel and informal price fixing by agreements 

covering the members of an industry are common place.  Were there something peculiarly efficient 

about the free market and inefficient about price fixing, the countries that have avoided the first and 

used the second would have suffered drastically in their economic development.  There is no 

indication that they have. 

 

 Socialist industry also works within a frame work of controlled prices.  In early 1970’s, the soviet 

union began to give firms and industries some of the flexibility in adjusting prices that a more 

informal evolution has accorded the capitalist system.  Economists in the United States have hailed 

the change as a return to the free market.But Soviet firms are no more subject to prices established by 

free market over which they exercise little influenced than are capitalist firms. 

With which of the following statements regarding the behavior of large firms in industrialized societies 

would the author be most likely to agree. 

 A.The directors of large firms will continue to anticipate the demand for products 

 B.The directors of large firms are less interested in achieving a predictable level of profit tan in 

achieving a large profit. 

 C.The directors of large firms will strive to reduce the costs of their products. 

 D.Many directors of large firms believe that the government should establish the prices that will 

be charged for products. 

 E.Many directors of large firms believe that the price charged for products is likely to increase 

annually. 
 

QUESTION: 25 

PASSAGE:Most economists in the United states seem captivated by spell of the free market.  

Consequently, nothing seems good ornormal that does not accord with the requirements of the free 

market. 

 



 A price that is determined by the seller or for that matter, established by anyone other than the 

aggregate of consumers seems pernicious, Accordingly, it requires a major act of will to think of price 

– fixing (the determination of prices by the seller) as both “normal” and having a valuable economic 

function.  In fact, price-fixing is normal in all industrialized societies because the industrial system 

itself provides, as an effortless consequence of its own development, the price-fixing that requires, 

Modern industrial planning requires and rewards great size.  Hence a comparatively small number of 

large firms will be competing for the same group of consumers.  That each large firm will act with 

consideration of its own needs and thus avoid selling its products for more than its competitors 

charge is commonly recognized by advocates of free-markets economic theories.  But each large firms 

will also act with full consideration of the needs that it has in common with the other large firms 

competing for the same customers.  Each large firm will thus avoid significant price cutting, because 

price cutting would be prejudicial to the common interest in a stable demand for products. Most 

economists do not see price-fixing when it occurs because they expect it to be brought about by a 

number of explicit agreements among large firms; it is not. 

 

 More over those economists who argue that allowing the free market to operate without 

interference is the most efficient method of establishing prices have not considered the economies of 

non socialist countries other than the United States.  These economies employ intentional price-fixing 

usually in an overt fashion.  Formal price fixing by cartel and informal price fixing by agreements 

covering the members of an industry are common place.  Were there something peculiarly efficient 

about the free market and inefficient about price fixing, the countries that have avoided the first and 

used the second would have suffered drastically in their economic development.  There is no 

indication that they have. 

 

 Socialist industry also works within a frame work of controlled prices.  In early 1970’s, the soviet 

union began to give firms and industries some of the flexibility in adjusting prices that a more 

informal evolution has accorded the capitalist system.  Economists in the United States have hailed 

the change as a return to the free market.But Soviet firms are no more subject to prices established by 

free market over which they exercise little influenced than are capitalist firms. 

In the passage, the author is primarily concerned with 

 A.predicting the consequences of a practice 

 B.criticizing a point of view 

 C.calling attention to recent discoveries 

 D.proposing a topic for research. 

 E.summarizing conflicting opinions. 
 

QUESTION: 26 



PASSAGE:The discoveries of the white dwarf, the neutron star, and the black hole, coming well after 

the discovery of the red giant are among eh most exciting developments in decades because they may 

be well present physicists with their greatest challenge since thefailure of classical mechanics.  In the 

life cycle of the star, after all of the hydrogen and helium fuel has been burned, the delicate balance 

between the outer nuclear radiation.pressure and the stable gravitational force becomes disturbed 

and slow contraction begins.  As compression increases, a very dense plasma forms.  If the initial star 

had mass of less than 1.4 solar masses (1.4 times the mass of our sun), the process ceases at the 

density of 1,000 tons per cubic inch, and the star becomes the white dwarf.  However, if the star was 

originally more massive, the white dwarf plasma can’t resist the gravitations pressures, and in  rapid 

collapse, all nuclei of lthe star are converted to a gas of free neutrons.  Gravitational attraction 

compresses this neutron gas rapidly until a density of 10 tons per cubic inch is reached; at this point 

the strong nuclear force resists further contraction.  If the mass of the star was between 1.4 and a few 

solar masses, the process stops here, and we have a neutron star. But if the original star was more 

massive than a few solar masses, even the strong nuclear forces cannot resist the gravitational 

orunch.  The neutrons are forced into one another to form heavier hadrons and these in turn coalesce 

to form heavier entities, of which we as yet know nothing.  At this point, a complete collapse of the 

stellar mass occurs; existing theories predict a collapse to infinite density and infinitely small 

dimensions  Well before this, however, the surface gravitational force would become so strong that 

no signal could ever leave the star - any photon emitted would fall back under gravitational attraction 

– and the star would become black hole in space. This gravitational collapse poses a fundamental 

challenge to physics.  When  the most widely accepted theories predict such improbable things as 

infinite density and infinitely small dimensions, it simply means that we are missing some vital insight.  

This last happened in physics in the 1930’s, when we faced the fundamental paradox concerning 

atomic structure.  At that time, it was recognized that electrons moved in table orbits about nuclei in 

atoms. However, it was also recognized that if charge is accelerated, as it must be to remain in orbit, it 

radiates energy; so, theoretically, the electron would be expected eventually to spiral into the nucleus 

and destroy the atom.  Studies centered around this paradox led to the development of quantum 

mechanics.  It may well be that an equivalent t advance awaits us in investigating the theoretical 

problems presented by the phenomenon of gravitational collapse. 

The primary purpose of the passage is to 

 A.offer new explanations for the collapse of stars. 

 B.explain the origins of black holes, neutron stars, and white dwarfs. 

 C.compare the structure of atoms with the structure of the solar system. 

 D.explain how the collapse of stars challenges accepted theories of physics. 

 E.describe the imbalance between radiation pressure and gravitational force. 
 

QUESTION: 27 

PASSAGE:The discoveries of the white dwarf, the neutron star, and the black hole, coming well after 

the discovery of the red giant are among eh most exciting developments in decades because they may 

be well present physicists with their greatest challenge since thefailure of classical mechanics.  In the 



life cycle of the star, after all of the hydrogen and helium fuel has been burned, the delicate balance 

between the outer nuclear radiation.pressure and the stable gravitational force becomes disturbed 

and slow contraction begins.  As compression increases, a very dense plasma forms.  If the initial star 

had mass of less than 1.4 solar masses (1.4 times the mass of our sun), the process ceases at the 

density of 1,000 tons per cubic inch, and the star becomes the white dwarf.  However, if the star was 

originally more massive, the white dwarf plasma can’t resist the gravitations pressures, and in  rapid 

collapse, all nuclei of lthe star are converted to a gas of free neutrons.  Gravitational attraction 

compresses this neutron gas rapidly until a density of 10 tons per cubic inch is reached; at this point 

the strong nuclear force resists further contraction.  If the mass of the star was between 1.4 and a few 

solar masses, the process stops here, and we have a neutron star. But if the original star was more 

massive than a few solar masses, even the strong nuclear forces cannot resist the gravitational 

orunch.  The neutrons are forced into one another to form heavier hadrons and these in turn coalesce 

to form heavier entities, of which we as yet know nothing.  At this point, a complete collapse of the 

stellar mass occurs; existing theories predict a collapse to infinite density and infinitely small 

dimensions  Well before this, however, the surface gravitational force would become so strong that 

no signal could ever leave the star - any photon emitted would fall back under gravitational attraction 

– and the star would become black hole in space. This gravitational collapse poses a fundamental 

challenge to physics.  When  the most widely accepted theories predict such improbable things as 

infinite density and infinitely small dimensions, it simply means that we are missing some vital insight.  

This last happened in physics in the 1930’s, when we faced the fundamental paradox concerning 

atomic structure.  At that time, it was recognized that electrons moved in table orbits about nuclei in 

atoms. However, it was also recognized that if charge is accelerated, as it must be to remain in orbit, it 

radiates energy; so, theoretically, the electron would be expected eventually to spiral into the nucleus 

and destroy the atom.  Studies centered around this paradox led to the development of quantum 

mechanics.  It may well be that an equivalent t advance awaits us in investigating the theoretical 

problems presented by the phenomenon of gravitational collapse. 

 According to the passage, an imbalance arises between nuclear radiation pressure and 

gravitational force in stars because 

 A.the density of a star increases as it ages 

 B.radiation pressure increases as a star increases in mass 

 C.radiation pressure decreases when a star’s fuel has been consumed 

 D.the collapse of a star increases its gravitational force. 

 E.a dense plasma decreases the star’s gravitational force. 
 

QUESTION: 28 

PASSAGE:The discoveries of the white dwarf, the neutron star, and the black hole, coming well after 

the discovery of the red giant are among eh most exciting developments in decades because they may 

be well present physicists with their greatest challenge since thefailure of classical mechanics.  In the 

life cycle of the star, after all of the hydrogen and helium fuel has been burned, the delicate balance 

between the outer nuclear radiation.pressure and the stable gravitational force becomes disturbed 



and slow contraction begins.  As compression increases, a very dense plasma forms.  If the initial star 

had mass of less than 1.4 solar masses (1.4 times the mass of our sun), the process ceases at the 

density of 1,000 tons per cubic inch, and the star becomes the white dwarf.  However, if the star was 

originally more massive, the white dwarf plasma can’t resist the gravitations pressures, and in  rapid 

collapse, all nuclei of lthe star are converted to a gas of free neutrons.  Gravitational attraction 

compresses this neutron gas rapidly until a density of 10 tons per cubic inch is reached; at this point 

the strong nuclear force resists further contraction.  If the mass of the star was between 1.4 and a few 

solar masses, the process stops here, and we have a neutron star. But if the original star was more 

massive than a few solar masses, even the strong nuclear forces cannot resist the gravitational 

orunch.  The neutrons are forced into one another to form heavier hadrons and these in turn coalesce 

to form heavier entities, of which we as yet know nothing.  At this point, a complete collapse of the 

stellar mass occurs; existing theories predict a collapse to infinite density and infinitely small 

dimensions  Well before this, however, the surface gravitational force would become so strong that 

no signal could ever leave the star - any photon emitted would fall back under gravitational attraction 

– and the star would become black hole in space. This gravitational collapse poses a fundamental 

challenge to physics.  When  the most widely accepted theories predict such improbable things as 

infinite density and infinitely small dimensions, it simply means that we are missing some vital insight.  

This last happened in physics in the 1930’s, when we faced the fundamental paradox concerning 

atomic structure.  At that time, it was recognized that electrons moved in table orbits about nuclei in 

atoms. However, it was also recognized that if charge is accelerated, as it must be to remain in orbit, it 

radiates energy; so, theoretically, the electron would be expected eventually to spiral into the nucleus 

and destroy the atom.  Studies centered around this paradox led to the development of quantum 

mechanics.  It may well be that an equivalent t advance awaits us in investigating the theoretical 

problems presented by the phenomenon of gravitational collapse. 

The author asserts that the discoveries of the white dwarf, the neutron star, and the black hole are 

significant because these discoveries. 

 A.demonstrate the probability of infinite density and infinitely small dimensions 

 B.pose the most comprehensive and fundamental problem faced by physicists in decades 

 C.clarify the paradox suggested by the collapse of electrons into atomic nuclei. 

 D.establish the relationship between the mass and gravitational pressure. 

 E.assist in establishing the age of the universe by tracing the life histories of stars. 
 

QUESTION: 29 

PASSAGE:The discoveries of the white dwarf, the neutron star, and the black hole, coming well after 

the discovery of the red giant are among eh most exciting developments in decades because they may 

be well present physicists with their greatest challenge since thefailure of classical mechanics.  In the 

life cycle of the star, after all of the hydrogen and helium fuel has been burned, the delicate balance 

between the outer nuclear radiation.pressure and the stable gravitational force becomes disturbed 

and slow contraction begins.  As compression increases, a very dense plasma forms.  If the initial star 

had mass of less than 1.4 solar masses (1.4 times the mass of our sun), the process ceases at the 

density of 1,000 tons per cubic inch, and the star becomes the white dwarf.  However, if the star was 



originally more massive, the white dwarf plasma can’t resist the gravitations pressures, and in  rapid 

collapse, all nuclei of lthe star are converted to a gas of free neutrons.  Gravitational attraction 

compresses this neutron gas rapidly until a density of 10 tons per cubic inch is reached; at this point 

the strong nuclear force resists further contraction.  If the mass of the star was between 1.4 and a few 

solar masses, the process stops here, and we have a neutron star. But if the original star was more 

massive than a few solar masses, even the strong nuclear forces cannot resist the gravitational 

orunch.  The neutrons are forced into one another to form heavier hadrons and these in turn coalesce 

to form heavier entities, of which we as yet know nothing.  At this point, a complete collapse of the 

stellar mass occurs; existing theories predict a collapse to infinite density and infinitely small 

dimensions  Well before this, however, the surface gravitational force would become so strong that 

no signal could ever leave the star - any photon emitted would fall back under gravitational attraction 

– and the star would become black hole in space. This gravitational collapse poses a fundamental 

challenge to physics.  When  the most widely accepted theories predict such improbable things as 

infinite density and infinitely small dimensions, it simply means that we are missing some vital insight.  

This last happened in physics in the 1930’s, when we faced the fundamental paradox concerning 

atomic structure.  At that time, it was recognized that electrons moved in table orbits about nuclei in 

atoms. However, it was also recognized that if charge is accelerated, as it must be to remain in orbit, it 

radiates energy; so, theoretically, the electron would be expected eventually to spiral into the nucleus 

and destroy the atom.  Studies centered around this paradox led to the development of quantum 

mechanics.  It may well be that an equivalent t advance awaits us in investigating the theoretical 

problems presented by the phenomenon of gravitational collapse. 

The author asserts that the discoveries of the white dwarf, the neutron star, and the black hole are 

significant because these discoveries. 

 A.demonstrate the probability of infinite density and infinitely small dimensions 

 B.pose the most comprehensive and fundamental problem faced by physicists in decades 

 C.clarify the paradox suggested by the collapse of electrons into atomic nuclei. 

 D.establish the relationship between the mass and gravitational pressure. 

 E.assist in establishing the age of the universe by tracing the life histories of stars. 
 

QUESTION: 30 

PASSAGEThe discoveries of the white dwarf, the neutron star, and the black hole, coming well after 

the discovery of the red giant are among eh most exciting developments in decades because they may 

be well present physicists with their greatest challenge since thefailure of classical mechanics.  In the 

life cycle of the star, after all of the hydrogen and helium fuel has been burned, the delicate balance 

between the outer nuclear radiation.pressure and the stable gravitational force becomes disturbed 

and slow contraction begins.  As compression increases, a very dense plasma forms.  If the initial star 

had mass of less than 1.4 solar masses (1.4 times the mass of our sun), the process ceases at the 

density of 1,000 tons per cubic inch, and the star becomes the white dwarf.  However, if the star was 

originally more massive, the white dwarf plasma can’t resist the gravitations pressures, and in  rapid 

collapse, all nuclei of lthe star are converted to a gas of free neutrons.  Gravitational attraction 

compresses this neutron gas rapidly until a density of 10 tons per cubic inch is reached; at this point 



the strong nuclear force resists further contraction.  If the mass of the star was between 1.4 and a few 

solar masses, the process stops here, and we have a neutron star. But if the original star was more 

massive than a few solar masses, even the strong nuclear forces cannot resist the gravitational 

orunch.  The neutrons are forced into one another to form heavier hadrons and these in turn coalesce 

to form heavier entities, of which we as yet know nothing.  At this point, a complete collapse of the 

stellar mass occurs; existing theories predict a collapse to infinite density and infinitely small 

dimensions  Well before this, however, the surface gravitational force would become so strong that 

no signal could ever leave the star - any photon emitted would fall back under gravitational attraction 

– and the star would become black hole in space. This gravitational collapse poses a fundamental 

challenge to physics.  When  the most widely accepted theories predict such improbable things as 

infinite density and infinitely small dimensions, it simply means that we are missing some vital insight.  

This last happened in physics in the 1930’s, when we faced the fundamental paradox concerning 

atomic structure.  At that time, it was recognized that electrons moved in table orbits about nuclei in 

atoms. However, it was also recognized that if charge is accelerated, as it must be to remain in orbit, it 

radiates energy; so, theoretically, the electron would be expected eventually to spiral into the nucleus 

and destroy the atom.  Studies centered around this paradox led to the development of quantum 

mechanics.  It may well be that an equivalent t advance awaits us in investigating the theoretical 

problems presented by the phenomenon of gravitational collapse. 

The passage contains information that answers which of the following questions? 

 A.I only 

 B.III only 

 C.I and II only 

 D.II and III only 

 E.I, II and III 
 

QUESTION: 31 

PASSAGE:The discoveries of the white dwarf, the neutron star, and the black hole, coming well after 

the discovery of the red giant are among eh most exciting developments in decades because they may 

be well present physicists with their greatest challenge since thefailure of classical mechanics.  In the 

life cycle of the star, after all of the hydrogen and helium fuel has been burned, the delicate balance 

between the outer nuclear radiation.pressure and the stable gravitational force becomes disturbed 

and slow contraction begins.  As compression increases, a very dense plasma forms.  If the initial star 

had mass of less than 1.4 solar masses (1.4 times the mass of our sun), the process ceases at the 

density of 1,000 tons per cubic inch, and the star becomes the white dwarf.  However, if the star was 

originally more massive, the white dwarf plasma can’t resist the gravitations pressures, and in  rapid 

collapse, all nuclei of lthe star are converted to a gas of free neutrons.  Gravitational attraction 

compresses this neutron gas rapidly until a density of 10 tons per cubic inch is reached; at this point 

the strong nuclear force resists further contraction.  If the mass of the star was between 1.4 and a few 

solar masses, the process stops here, and we have a neutron star. But if the original star was more 

massive than a few solar masses, even the strong nuclear forces cannot resist the gravitational 



orunch.  The neutrons are forced into one another to form heavier hadrons and these in turn coalesce 

to form heavier entities, of which we as yet know nothing.  At this point, a complete collapse of the 

stellar mass occurs; existing theories predict a collapse to infinite density and infinitely small 

dimensions  Well before this, however, the surface gravitational force would become so strong that 

no signal could ever leave the star - any photon emitted would fall back under gravitational attraction 

– and the star would become black hole in space. This gravitational collapse poses a fundamental 

challenge to physics.  When  the most widely accepted theories predict such improbable things as 

infinite density and infinitely small dimensions, it simply means that we are missing some vital insight.  

This last happened in physics in the 1930’s, when we faced the fundamental paradox concerning 

atomic structure.  At that time, it was recognized that electrons moved in table orbits about nuclei in 

atoms. However, it was also recognized that if charge is accelerated, as it must be to remain in orbit, it 

radiates energy; so, theoretically, the electron would be expected eventually to spiral into the nucleus 

and destroy the atom.  Studies centered around this paradox led to the development of quantum 

mechanics.  It may well be that an equivalent t advance awaits us in investigating the theoretical 

problems presented by the phenomenon of gravitational collapse. 

The author introduces the discussion of the paradox concerning atomic structures in order to 

 A.Show why it was necessary to develop quantum mechanics 

 B.Compare the structure of an atom with the structure of star 

 C.Demonstrate by analogy that a vital insight in astrophysics is missing 

 D.Illustrate the contention that improbable things do happen in astrophysics 

 E.Argue that atoms can collapse if their electrons do not remain in orbit. 
 

 

 


